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(R1F AN M 2])
2 E 495 105.4572 115.6440 115.4397 116.5250

- 130 0|4 19, 120 ~ 130 : 42, 110 ~ 119 : 536'H, 100 ~ 109 : 546, 90 ~ 99 : 236

90 OJ%t 1274H

- XE SEX X 10H : 1263, =A™ : 106.8

O zIZeHX 44 4

7}, GPA
T 259 50% L 75% =S Axt
FEE ° ° (5H¢l 25%) gz
GPA(4.57|F) 4.31/4.5 3.93/4.5 3.29/4.5 3.88/4.5
- X|E SEX x|1H : 45/45, X XH™ : 2.24/45
Lt ojsteH
T2 75% x| St A Xt
EEEES £9] 985 £9] 940 £9] 800 £9 920
- XF SEX X0 EQIIE 990, | XMH : EQIIE 645
Ct 2|[EEA
o 75% ZESSAHX
T= 25% 50% GBIl 25%) o
cE HA 1215 115.8 108.3 1154
- XX A OH - 131.2(248) 118.7(XI1Y9QUxH) , = XH : 50.5(%h), 56.8(XH2IxY)
- XF SEX F0H : 1263, XA : 106.8(24%H, 107.1(X|H UxH)
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